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QUESTION 1

A client named Rudy\\'s Rocking Hot Rods sells high-end motor vehicles through its customized portal. When a user
logs in, they are presented with several combinations of portlets and iWidgets. The user can select a car model, color,
customize finishes, and perform other applicable actions. As part of a new development phase, the client has requested
two updates: 1) Wire Portlet ABC to send an event to the iWidget XYZ. 2) Wire iWidget XYZ to send an event to the
Portlet RSA.

What option below is not correct, assuming all portlets on the page are JSR 286- compatible?

A. If Portlet ABC defines a Java class in its portlet.xml under the element as "java.lang.String," it is able to pass that
value to iWidgetXYZ.

B. iWidget XYZ will be able to receive events from Portlet ABC and send events to Portlet RSA.

C. If Portlet ABC uses a custom type defined as follows: org.za.StrongTypedthen the iWidget XYZ needs to have a
corresponding payload definition as such:

D. When passing a mashup type from iWidget XYZ to Portlet RSA, which uses XSD types, that type must be manually
converted because IBM WebSphere Portal does not provide an automatic type conversion mechanism.

Correct Answer: D

QUESTION 2

Which option best describes how JSR 286-compliant portlets and widgets interact with each other?
A. Portlets and widgets cannot interact with each other.

B. Widgets and portlets can interact by using shared render parameters and events.

C. Widgets and portlets can interact by using shared render parameters.

D. Widgets and portlets can interact by using events.

Correct Answer: B

QUESTION 3

The portlet.xml file for SamplePortlet looks like this:
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=portiet-
zport et-name=CertTargetPortlet=fportliet-name=
=zdisplay-name=CertTargetPortlet</display-name=
POt Et-class=com cISco. Certrnalportet.Cert | argetHortiet</parie-class=
<5Upports=
=mime-type=texthiml</mime-type:
=portiet-mode=view</potlet-mode>
<f5Upports=
zportet-info=
=title=CertTargetPortlet=/title =
<short ttle=CertTargetPortlet</short title=
<keywords=CertTargetPartet</keywords=

=/porlet-info=
<fportlet=
Inside the CertTargetPortlet java class the doview() metiod is implemented like this:

public void doview(RenderRequest request, RenderResponse response)throws PortletException, I0Exception|
ResourceBundle rs = gatPortletConfigl).gztResourceBuadlienew Lacale!"en"));
System out printinrs getString("javax. portet title));

}

Assuming that no modifications have been made to the properties bundle, what would be written into SystemOut.log?
A. java.util. MissingResourceException: Can\\'t find resource for bundle

B. java.lang.NullPointerException

C. Null

D. CertTargetPortlet

Correct Answer: D

QUESTION 4

Carl is trying to create a theme based on a modularized IBM WebSphere Portal theme. He is ready for deployment, but
is unsure of the structure he needs to use to accomplish this. What would be the proper deployment structure for this
theme?

A. Create an ZIP file that contains one WAR file containing the dynamic content of the theme and one JAR file
containing a .content filereferencing the static content.

B. Create a custom version of the dynamic content from the modularized theme as a new EAR file and a custom version
of the static content bycreating a folder in the file store for it.

C. Create a WAR file that contains an ZIP file containing an EAR file that includes both static and dynamic content.
D. Create a folder for the theme in the file store, and create a WAR file containing an exact copy of this theme. All
associations between static anddynamic content will be made once both are associated by sharing similar context

roots.

Correct Answer: B
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QUESTION 5

Matt is developing an interactive AJAX widget that will allow content approvers to review content without leaving their
home page. Which IBM Web Content Manager API feature should he use?

A. Web Services
B. JSP Tags

C. REST Services
D. Managed Pages

Correct Answer: C
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